(Strong) Suspension

) c={} A (&, CS7S>3<S’,A,C>

(€,Cs,suspend S when (o)) — (noth:mg7 A,C)
VeeCe=<Cs N C#{} N (€, Cg,S)#»(S’ A,C)
(£,Cs,suspend S when(rf)) <suspend S’ when (o), A,C)
VeeCer=Cs A C#{} A (£,Cs,8) > (8, A.C)

(az)

c immediate
(€,Cs,suspend S when (o)) — < suspend S’ when (o) VA C>
[o]e = true
(a3) immediate c immediate
<g Cs: suspend S when (o) > - < suspend S when (o) ’{}’{C‘S}>

[o]s =false A C£{} A (£,C5,8) > (S,AC)

(a4) ¢ (. immediate © [ immediate Ac
'~ suspend S when (o) suspend &’ when (o) "7

[ole =false A C={} A (£,Cs,8) = (S',AC)

(£,Cs,immediate suspend S when(o)) S (nothing, A, C)



